BT A M E R 2006.6.23 =i
== 1 B =
6/16 HEDMHEE
Wm
5 5 ) 50 0 0.50.)0 wo 1.5w0 20.)0 [rad/s
15V 15V 15V L ‘ ‘ ‘ ‘
T(S)= W R w3L2 3.2 2L = Lhax 40+ : i
0 +S 0 ) w,R swyL w,
§ R s R 30t |
372 20t |
S8 LR a)OR=stL o s R k ;
s R w,L o 10—%%,;'; - s
y O Eﬁ%@
BEZAT S L [Nm]-10} ) feliio {3 5 £
LTF&w! !
-20f :
7= 0 T, =250 (s=0.1) :
— _30,
1005+ (HiA )
.40,
¥ 7.
-50 : ‘ : w ‘
1 0.5 0 -05 -1 k
rm= 51%010 =50 T(-s) = -T(s) -»> TR
(R RURFR) T ST R DN T

o772 72H  LAEDXH TR

BYEZOARZ L EATDEHITT T 70
ZA6Y % (LLflHERs o ikAl)

TR 1 ={FILRE
D EITIFNE

ThIVIZHBRED
CBhED R

l
S Z OFI TS
(-0.05~+0.05)

50 T T T
2R IH % W BEAMLVZIIAE
R AN
5DFHE F LY 30t
ERFCTIZ ] ROfi%%EZ%E
bl , 75 7 DI H il
vl - RoX il T
7 :
[Nm] -10F
) HMEROMIE 55 0 §
LTFEw! ! :
-30F ,
-40+ é
50 F ‘ ‘
1 0.5 0 -0.5 -1



